ifference of Two Squar

Factorise:

(@) (a2 2) (b) (T )(x_ﬂ
(C—> (3&*3>(3C—3) (a) (3C+\X3C_—I )
<e> (QC-\-%XDL—SB G—\ (QQ__HOX DC;-IO)
I(q) (e 12Y(e-12) () (15 Y2x-15)
() (104 XY 10-2) () (444 -2<)

(@) 4(>a+ SYo-8Y (0 e+ 20e-1)
or (20e+10)(2x-10)

() (dacrY 4oc-1)(d) (3oery Y3y

@) (5+2x Y52 FY(BurNGY-D

(3 Y(iooe-2Y105e4 2D (W(Foct5Y(4c)
or 4(Bx+Y(5x) |
() (1oer 4)(125c-4) (3 (2482
or (16 (301 X3oe-1)  or 4oty ow-

o) 2(oc+8Y2e-) (1) 2 (e 4 Y -4)
e 10 (et Yoe) (4 10(e+SXo-5)

&) 5 (;cx3Y-3) (£) 5(Yy* (Y-t
() 8(ocr 2Yoe-2) (W) B+ 4X2C~4)
(1) % (1Y 20c-)() 3(Boc+3)E0c3)

(a) x? — 4 (b) x2 — 49
(c)x%?-9 (d)yx?-1

(e) x? — 64 (f) x?—100
(9) x* — 144 (h) x% — 225
(i) 100 — x2 () 16 — x?
Factorise:

(a) 4x2 — 100  (b) 4x2 —49
(c) 16x%2 -1 (d) 9x2 — y?
(e) 25 — 4x? (f) 25y% — 81
(9) 100x> —4  (h) 16x2—25
(i) 144x% — 16 (j) 4x% — 64y*?
Factorise:

(a) 2x2 — 50 (b) 2x2 — 32
(c)10x2 —-10  (d) 10x% — 250
(e) 5x% — 45 (f) 5% — 80
(9)8x*—32  (h)8x*—128
(i) 20x%2 -5 () 75x% — 27
Factorise:

(a) x3—25«x

(b) x*-—49

(c) 100x? — x®©

(d)

4x° - 9x°

@) oc(acxs)oe-5)
(o) (™1 Waet)

(<) (\Ooc_+3c3X\0:r,—:x;3)

@) oc(223+ 3xc*2x-30ct)




